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1. In AABC, if 934 _S085 _COSC 1 en the triangle ABC s

a b G
(A) nght-angled (B) obtuse-angled
(C‘ cquilatcral (D | isosceles

31 ABC fagis afs C°4 FE’-: 5 _COSC ., omm $%a ABC e 2374
l C

(A) mﬁ": (B) ®ora®

gy (D) >y

2. fcos ! Vx : cos” V1 - x +cos”! J1-y=n, thent the value of v l‘

|
(B) g C) 1 (D)

A) 2 3

!'\Jl:—-

X1 cos ' Vx +cos ' VT-x ~cos ! /1=y = 3% <4 F= ¥R

1 3 - |
A [3 TS D
(A) - (B) - \l ) -

3. The points (2, -2), (8, 4), (S, 7)and (~-1, ]} are th- angﬁlar points of a
(A) }mrallelogram B) rhonbus

(C) rectangle (O} square

ﬂl (21 : 2', (8, 4’, !5, 7] L1024 (— 1' l]ﬁ"‘i?jf‘ﬁ R ‘-;E:-'!'o-’: _q?;"'irfg ‘.ff-:: ETE ‘_“Iﬁ

HA)  FTayge (B) 9%

Bl S (D) *sfrwa

4. The equation of the straight line through the point (3, 2) which makes an angle 45" with th-
line x-2y=3is

(A) Bx+y+7=0 B) 3x-y-7=0
(C) 3x+2y-7=0 (D) 2x-3y+7 =0

‘ 81 (3, 2) T4 @ SWCAY x - 2y - 3 NAACANE T2 45° (@70 73 TLq WA wAN 224

(A) 3x+y+7=0 (B) 3x-y-7=0
(C) 3x+2y-7=0 (D) 2x-3y+7-0
IT—Series /3 2
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5. ler er}uatlon of the circle passing threugh the peints of intersection of two circles
X" +Y” -3x-6y+8=0 and x“+y“-2x-4y+4 -0 and touching the straight line

xX+2y=315, is

A) x?+y? - x-2y=0 B) x‘+y? 2xJy ¢

‘C, x2+y2+x+2y=0 u)) x1+_;‘ *2x+y- .,‘

x?+y? -3x-6y+8-0 AW x2+y2 -2x-4y+4 -0 G R @ 38 x+2y-5
HRACINCE =1 ICF T2 K339 2373 '

¢!

(A) x2+y2-—x—2y=0 '_[B}”:tz +-y2—2x-'y'-=0

(C) 12+y2+x+2y=0 (D) x‘2+y2+2x+y=0

P
/ 6. The length of the chord intercepted by the parabola y - x? .

k J
> (A) V26 (B) 27286 (C) 3V26 D) None of these
S x+y="5 39 VA (WS y - x? + 3x WO -2 i %3
(A) V26 (B) 2426 (C) 326 D) ¥R @ES a
7. If the Jatus rectum of an c¢llipse be one-third of its major axis, then s eccentricity s
2 2 3]"
A = _ B) - & — D) N o! th
‘]#3 e (]3 ()(4 (D} None of these

9| @30 SoRran TBwrys W TH9aba 3w U (major axis) GF-TIT™ Nw B P T2

2 2 3y o
(A) 3 fl 3 () [4) (D) YWTR @O AT
x(l-\G-x )
- -~ 18

8. The value of lim
20 /1L x2 (sin~! x)3

(A) 1 B) 0 () ‘1 D)
2 3

r—-_i- ——

. x(1-vV1-x?
i lm - (_ \1._ x..l 93 Y 2%+

x50 ) 52 (sin” ' x)*

(A) 1 (B) © (C) I D) ;
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9. lftl‘scr'[{:t+—l.+sin'l --Ji._._l‘ thrn%is ual to
l_-.x ft - ]Jr | -
1
(A) O )
Q, fx -]
(C) 1 (D)
L~ 3
I ';.,t *l- | .___ 1 | - 3
») W y=9ec} X" Z|igin~! "' ley :rﬂ!:“"i"“ “4 e
L‘\.I _l_| v X “"l! 'rtt
A) o 1. L
x + 1
D) 1
(C) 1 R W

- S

T —————————————————————
30. The luitwn i x) defincd by

(Ix})e 3, ,t'f'}-.?-
fix)=¢ -2x , -3 < x«3
Gy« 2. X &3

b

&

{A] continugus at x= - 3 and discontinuous at x =

(B) continous at x - - 3 and x = 3

IC} discontinuous at x = - 3 and x 3
D} comtinuous at x = 3 and discontinuous at » -
Yo f{x)=rerwafl Age iy wras
x|~ 3, x < -3
f(x)=§ -2x J<x<3
Hbx + 2 x2S
7 (x) wryweh
L JA) x - -3feTe owe g xR oy
B) x |36 x= 3 Revez e

) x=-38 x 31T oy

L |

3

11. If Rolle’s theorem holds for the function f(x)
then the value of k is

(A) -3 (B) 3

2+715!I.mnr'u: CER I ;e

(A) -3 B) 3

(€)

‘.3___6:2 * kKx 4+ 95 2n [1,'3] with ¢=2 - _;

f=

W

(Cy 7 D) 11

\ -
1 W fix)=x?-6x? + kx+ 5 Wermafa wa |1, 3| 8§¥l¢ Rolie S'rmflt 3w & @ o @2 =

~1

Oy 11

~
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13. If the function g(x) defined by
kvx+1l, 0<x<3
glx) =

me+2, 3<x<§

18 differentiable, then the value of k + m is

A) 2 B ° o

Y31 glx) Srorwafd fogmn;of srars

k\f}-:l, 0<x<3
me+2, 3<x<5

glx)=

g(x) STrwIT G 19N W7o k 4+ m-43 T B

A) 2] B 2 o 2
| ) 3
13, (X 3)exdxis ual to
‘[ (x +4)2 .
, e* o* x
(A) +c — tc o A
(x+4)2 (B) (x +4)° ! “ x+4+c
> 9| j_(_’fﬂe dx- 43 T+ 33
(x M)4
X X X
(A) e__z +C (B) £ +C (C) -E—-«rc
(x +4) (x +4)° x+4
0

(DJ 4

D) 4

(D) tC
x+3
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sin® x - -cos® x

| 23m2 xcoaz

14. I - dx h equal to

(A) sin2x +c

(C) l SIN2x + ¢
2
R
)3",- sin® X —COS : dx-Ga WA 3B

2mn xXcos“ x
(A) sin2x +c

(C) %sinzx .

T —
s F

18. fur l+jx 2)+1x- 3|jdx is equal to

] 7

Y0 [“(1x - 11% |x - 2]+ |x - 3)) dx-42 T =

(B)

NI

(A)

N

16 The solution of the differential equation

(A) ysec® x = 8eCx + O

Ly : ,.‘

(C) y=occ X + COCC™ X

1 i

(B) -—-sin2x +c

(D) -sin2x +c

(B) -~ -sin2x +c

(D) —smn2x +c

'.}l
19 y
& > ‘D' 2
19 o 2!
(<) 3 \ 2
Jylan x =~ s x 18
(B3] ysecx WANRNX +C
(12) Nome of theee
B} usecX =tanx ¢¢
(D) YOOM (RN A
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17. The solution of the differential equation (ii"' ,x_y IS
(. xX* +y-

\ .
{A) cy*? e /¥

(C) y=e* +e¥ + ¢

D) y-=e’
d.
yqi 2= M wmmw ey s 3
dx  x? 4y |
2 -
(A) cy? =e< /¥ B) cy- xe*/¥

C) y=e“+e¥ +¢

(B) cy= xa™'¥

(D) y-e']«r y2+c

18. The maximum area of a right-angled triangle with hypotenuse h is

h? h? h?
Al -
Y ™ 3 “ 2

Yo i wefl e fagrwe wfogrem dnty 1, Mre FeeTia Aw wgwe 274

h? h? h?
A _ -
A) 2J2 _ B) 2 €) J2

19. The equation of the tangent to the curve y= x +

i

(A) y-0 M) y=1 | (C) y=2

¥ Y= Xx+ :z UL X S - AP TR ¥ NP9 ¥2

(A) y=0 (B) y=1 C) y=2
MT—Series C/3 7
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20. If the surface area of @ sphere of radius r is increasing uniformiy at the rate of Bcm”® /ue
then the rate of in-rease of its volume 18

(A} a constant
(H) proportional to vr
(C} proportionaj to r 2

{l}} ;WO],.H}!'*H]T l..l o r

| (YW

sal o, aondiaied ot (owres Beftern IR 8 cm?/see FNULA

WU oS AN E e TR
(A) «ofh »aa

(B) r-€a wawenfde
(C) r* 4% I&“‘ﬂ“
L} r 4.*‘! Wy

21. The area bounded by the curve y-2r x? and the straight ine y= X 18

b 35 13 13
A .. D) —
Al ; (B) i C) ; D) -

RV Y=2x- x? IJ AR y = ORIRAY T TG W eI R

R —

.9 35 43 13
- B 22 C) D) =
IAI2 l16 ”6 ( s

22. The least value of a for which the function fix) - x® - ax + 1 is ncreasing in ) 1, 2,
}

(A) -1 (B) -2 C) | (D) 2
W fix)=x? vax - 1Rl | 2] WA 3RCH Ve o WEER W e
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43. If X and Y are two sets defined by
X=(8" -7Tn-1:n¢e N}
Y ={49(n-1):ne N
(N being the set of natural numbers)

then
UM XCY (B) Y - X
C) X =Y (D) None of these

R0 N T 714 (natural numbers) 93 051 X 8 ¥ o5 AT fgae s

X={8"-7Tn 1 ne N!
Y (49(n-1):nec N)

Ty M

A XCY B) YCX

e

C) X-Y (D) oW (@57 TR

24. Let S be the sct of all real numbers. A relation R 18 defined on S such that
R=!la, b) 1+ab>0, a, be S|

Then the rrlation K s

(A) reflexive and symmetnc but not transitive
(B) reflexive and transitive but not symmetnc
(C) symmetnc and transitive but not reflexive

(D) an equivalence r~lation

R =fla, b) 1-ab>0. a, be S)

Al fagids g Piaffe fg el e

| —

!
T': “3" g2 iefs fay Rgpfe- a0

HTI 3% ‘,fﬂ"&rf-;ﬂﬂ ern &
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25. If f(x)- "X, x+ -1, then for what value of «, f(f(x)) - x?

X+ 1

(A) V2 B) -2 (C) -1 (D) 2

e W fx) o S5 xs -1W, T R0 a6 WA T W LS (x) = x PR

(A) V2 B) J2 (C) 1 (D) 2

26. If A and B are subsets of a set X such that n(X)=900, n(A)= 300, n{B) = 400 and
n(AnB) =150, then n(A'n ') 1s equal to

(A) 250 (B) 300 (C) 350 (D) 100

Wi A 8 Bk X OB-g1 2 MeadT W, W@ n(X) - 900, n(A) = 300, n(B58)

400 &
n(A"B) 150, STY 2@ n(A ~ 1) 8 T TV

Y . K
| (A) 250 (B) 300 (C) 350 (D) 400
3
27. The domain of definition of the function
1 S—
’ - —— — -‘Vl ) 4
Six) V2x - 1
1S
(A) J1-1] (B) [—1. o
2
(C) [1, eof (D) None of these
291 flx) = o -y 1-x2 Emaa wETE WeEl P
J2x -1
r 1 B) [-1. eef
= 1
A le
(C) (1, of (D) BT (B0 572

28. An urn contains 10 balls marked 1, 2, 3. . 10 If two balls are drawn, then the probabilit,
that the difference of the numbers on the balls exceeds 3. is equal to

8 7 1 2
- . D
w = \nin kA € 5 o

Wi go oM 1, 2, 3. ., 10 R W Bfee 107 W o) mad Are O W e B o
v3fba fBfee swma e 3 g7 caf* seye wwrae Be

= | / l 2
— B 5 D -
15 (B) 15 (C) 10 (D) 21

(A)

29. The statement p »(qg — p) 1s equivalent to

(A) p g B) p —~{pvq) €}y p—~lp-+q) (D) p —+ipag)
an | p (g — p) [43feDa (statement) Swye faqfsf s
(A) p—g ‘Bl p—pvq) ) p—Ap >q) (D} p—{p- gl
10
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30. If the standard dc\muon of x;, X3, ..., Xy 18 35 then the standard deviation
-2y -3, ~2X5 -3, ... ~2x, -3 18

(A) -7 B) -4

'__(C) 4 1 (D) 175

oo | 4N Xy, Xg, ..., Xp 948 @ 43 (standard deviation) 25 W, T 7% A

-211 - 3, ""'2.!2 -3, .- "‘21" -3-44“!3'"@%

(A) -7 (B) —4
(D) 175
L(C) 7

31. Let R be the set of real numbers and let the sets A and B be defined as A= R- (3}

2
B- R- {1). Then the function f:A — B such that ﬂx|=f~_ 8
(A) many one, into (B) many-one, onto
; ;

(C) one-one, into { (D) one-ome, onto

=31 WS R amya Wi o PR 377 WX A ¢ B o7 fb fRaacer e
A=R-{3), B=R-(1)

e farersIft A B IWRA NS ® @ f(x) = i "; oy A f (x) wornafh 222

(A) |93, SRS (B) A-43, Jafsa

(C) 4%-43, WHAR (D) I3-43, Berfeae

32. In a binomial (n, p) distribution, the sum and product of the mean and vanance are
‘?f and %9 respectively. Then (n, p) will be https://www.tripuraboard.com

(15, }) [(f' 5.3 |

) [1s 1) (D) None of these
4

o231 9275 binomial (n, p) distribution-4 % (mean) € (S%< (vanance)-S3 TTF# 8 JTUH UL
25 s S0 (n, p) R

3
{ I ‘\
(A) | 15, 5J (B) [15 3J
(C) "‘- 15,;,:] (D) YW (PR 1%

11 (P.TO.
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33. The first term of drgmthmetmn] progression is 1. If the second, tenth and thirt 1""1.
terms form a geo~tric progression, then the fourth term of the arithmetical progress:
] 3

— (B} (C (D) 2

g

oo fh wawe wtee A ol | uﬁ%mm,memﬂwﬁmmm%m.ﬁm
warwa avtea veo ol e
1 3

- B) | C) (D) 2
(A) ; (B) ( :

34. If nis an odd positive integer, then the sum of the first n terms of the senes
12 4222 4+3%+243,+5%:+2.6%.... \

e 3
\LLM"—(” ) B) - (n-1)3 (C) %(n-—l] (D) g(n,,”

2 2

- = = e

38. The number .f integers greater than 6000 that can be fo@t‘d TH;
and 8 with no repentions of the digits, 15

: ! rge.
(Al 216 B} 192 () 120 o {2 I

0¢! 3, 5,6, 7 €4 8 Mw @A @ 1A 1 I (000 T 3+ FOEIA T Bl
o ETETTRR M ¥4

the digits 3;1'.'6, 7

- — ;
(A) 216 1(8] 192 J IC) 120 (D) 72
36. If pand q are non-zero real numbers and a’. 38’ = p, ap = g, then the quadratic rzqua'-:. '
2 2 L |
whose roots are ¢ and B— 18
a
(A) px¢ -qv p? 0 ' Bl qx?+ px+ =0
(C) )::!.t2 +Qx - p’ o ¢ ‘D) q.t! ;;n.x‘r-qJ 0

oo T p & g 7 We i P A T T Ml =op,af g W, I RA @YV

2 2
MWM {'ﬂ- £9° ﬁ %84, Q%) ¥
a

B) qx?+px-q?=0

A) px?-gqx-p? -0
2 y
IC} px?+gx- p? -0 D) gx* px-q¢ -0
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' 7 i %inary ber, th
37. If2,(# 0)and z, are two complex numbers such thiat 18 a purtr'» maginary number, then
J -
3z, |
e o 1$ equal to
2, - 3z,
(A) 2 B) S ) 23 * Iy |

ﬁ | l.h 32 | -
°a1 I 2, (# 0) 442 2, P *%a wl= W, (s 22 el et vel, 09 I‘t_r o +_2..|4¢| 5ol

z, 2z, - 3z,
¥373
AL 2 B) 5 () 3 (O
38. If i | N
. P s a real number and if the middle term in the expansion of | ‘;1-2 ; 18 1120, then the
value of p s
(A) +3 * B) +1 ] (C) +2 (D) None of these
4 G i

| R
i “ﬁpm‘m’”ﬂ‘ﬂﬂﬂrgu] a2 agfers wriemfs su 11208 T e p-9% 3w 9B

(A) %3 (B) +1 C) 12 (D) YHOR (B S
| b » b -
0 -tan® ' T ‘com - |
39. If A m a 2 and [, ii‘ihc unit matrnix of order 2, thép 1, A]lcql nn
tan® 0 IO CoSu
2 ] =
1s equal to
(A) A B) 7, (C) I;+A ' II)||‘I§- A
i )
_| 0 —tar‘l(I |
od AR A= 2| @@ 1, MW &£F7 (second order) 4% MYW W, TW e
tan - 0
r12
‘cosa  —-sSIing
- 47
172 A’Lsinu cosa | ﬂﬁm
(A) A (B) 1, C) I, +A (D) I,-A '
sC/3 13 [PTO.

—_ — p-— e

o
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42. Consider the following system of hinear equations
Xl ¢ 211 + x3 I3

21"*3!:2 +13ﬁ3
3x; +5x,; +2x4 =1

The system has |

(A) mfinite number of solution sets
(B) exactly three polution sets

(C) a uniqur solation set

(D) no sclution

B! Xy +20 , #Xy =3
211#3,1 L tX, 3
3‘1*’514} *ha "'l

453 TR HDwee o
(A) WY wEe- P W

B) B= fafh svm o ww
(C) @awrag «afl W= O =1

(D) G YA of

l,._-—-""""'_ -

— q M = - -»
43. Ifa~1+j+k and b - j -k, then a vector & such that @ ¢ =b and d-¢ = 3, is

A 1‘"‘ T

ili_).:t'iwi 2+ 20 (B) ;125 + 5« 5Kk
.5 @ ..

C) - (51+271+ Kk —11 s ;

()3(; J+Kk) (0;3: 5)+2k)

go) Wa=-1+)+k b= k@@ ¢ g 430 (S, TWE adxc-b €ad ¢ 3. 2% %A ¢ ca3z

4 *

(A) —;l55’+2}+2fl (B) %(2&5}5&)
] ... o . l - a

(C) 3[5131«}2]4—&;] (D) 3[!*5}+2‘E)
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44, Vectors a and b are such that |&'|= | |E|=4 and E-E 21 ¢ -Za'ﬁ:- 35, then the angle
between b and ¢ is

4y
n on n 2
(M \ I} -
6 (B) 6 (¥ 3 ) 3
881 d 8 b (=¥ A o WA @)= 1, |b|=4 A db -2 R 2xb-3b WO RAFH 8¢
cS ¥R R @ ofham N '
m ) n o AR
Al B) - C D
A (B) ” | | :

45. The foot of the perpendicular from the point (7, 14, 5) to the plane 2x +4y -2z -2 is

F"—ﬁ...

A (215 \® (128 0 (7,2 8) Dl (L 14, 8

s¢! (7, 14, 5) % BE 2+ dy-z = 2 WA TR WS FYLANR o7t e

A) (215 B) (L2 8 € (7.2 8) D) (114, 8

46. The distance between the planes 2x - y+3z+4 = O and 6x - 3y+9 3 =018

5 4 | 5 3
A — B 1C — }, |
[ l v J l ' VO l ¥ l 2"' J

89l 2x y+3z+4 = 098 6x - Iy+9z - 3 = O FATHULTA F00 199 7%

5 4 . oy O
) C) —- ) —
(A) A (B) I C) v "
_ MT—Series C/3 15
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i

(g

x ¥-2.

47. The length of the perpendicular drawn from the point (3 -4 111 te the line == 73

IS i 4

(A) V66 (B] .29 | (C) /33 ‘ D) 53 .
2 3
aslla—l.ll)ﬁﬁﬂ;a'm_z ety z'-, WﬂﬂfﬂﬂJ
(A) V66 B) 29 ) V33 D) V53
n " 21
48. cctﬁfmt[ﬂ-r 2 : :rle ¢ 3 \ 1s equal to
(A) ~-cot3d (B) cot 0] (C) 2c0t38 1\ (D) icatw
vl mt0+co,t('843 jm(eﬁii,] afegmfBe @ 2% t f
(A) -cot3s (B) cot38 €} geot (D) 3cot3s
. - I S u‘] B
n to
49. If cos(u + )= 4- and sinfe B)= -, where OS«, ‘\5 ;, Ulcnsﬂnh '3 €4
3 O ] 3 | | .
= | 1 =i~ ]9 | -
(A) %’ [ (B) o0 1(14 3 (D) -
16 | 33 | 2

3
8| ‘Ifﬁcn%(u+ﬁ) = - @ simmfa ) =
o

25 506
. 3
A) (B) 33

/14 1)sint 218

50. The gencral sa!utior of the equation (J3 — 1)cos® -

e
A) 2nr e T @) 2mn L4
¢ 12 g -
IR (D) N’mc of l‘lc{
(C) 2nntn - o

| n1s an ntege! |

& s Hael 2UT
1

&R (J_é.— l)calﬁ i}‘[xm‘.’»k 1)sint 2 Ao ﬂ‘-

- - 8§~
O (13) 21x+ 4
éA] 2m1-'———,_ i S .
4 12
3 D) ¥
{C) 2mttu-—l_2

i
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